Bl +A_dec
+A_dec
+A_dec
+A_dec "s
R2 R3 &
> s
> 5.6k 5.6k < STK.. 9
A Q1
RS _A_dec KSC945
R6 (25C1870 8k )
3 +A_dec 100k - Q5 gxprerz Q6
2xKSCOHS SR
_K QY T S (2541047 ok) 0 F:7 -
vy 3%
1 ™ R TIP29C
._,\M_t Q8 (Beta 5011)
D1 32 1-amamax 4
D1N4148 R12
W Q9
D2 10 8 8]
D1N4148 2uH
R13 -2mamax
2x 2N5489 < R36 i
W (28K185 k) SR Ri5S 3 L
1k R37 ots 047
Ri8 R17 22p 180 3 1 ~8mVDC R20
100 6 BCS56A 22109 i I out
b (Beta: 170)
SET=05 oo i o
= BC546A R21 R22
c8 - (sta: 160} 047 10 s
R23 < < aoma
330 s > 150 ¢
a1 o
KSC945 Qi3 R30 it
n
(25C1570 ekv) A
R26 s BF471/PLP I Qi4
10k (25C2441 ekv.) SET = {setval) R31 By
o 7 MEGY b a—° TIP30C 0
33K DIN4148 i Nyugalmi 0 o15
R32 max. 120mA aram R34
100 VWA~
10
PARAMETERS:
Orig: 100 -A_dec setval = 0.35
0
-A_dec
2
R35
A
V
22



